< F15 4 [E FE 5 R5.3.31
48 58 6 A 78 8H 9A 108

1l T 1| B [Prassizez ags) | 1| K|ssreovoszissen | 1|1 PN 1% 1| H |=er

2|H 2| K 2| & 2| B |ama 2|7k 2|t 2|8

3|A 3| /K |Exean 3| 3|A 3| K 3| H |am== 3| K

4K 4| K|»evon 4| H |am= 4| K 4| 4| B 4(7k

5|7k 5| |cetor 5| B | Es-p) 5|7K 5|t 5[k 5| A

6| AR 6| 6| N 6| |toEou13:20) 68 67K 6| % [Emsemon)

711& 71 8 |gmr 717K [ersormesmnn smpumsmcen | 7| [emymnmem 718 7|k 7|+ oz xans

8|t 8| B [wesmnysm 8| K 8| T |zmy 8|\ 8|& 8| B |ere s®wa1

9| A |ame 9|\ 9% 9|H |eme 97K 9| £ Frcxm@ctozan| 9| B [2f—vor F@A2
10| B | @z @AmR) 10| 7K |28 10| L [preswemsanmemol 10 B |&eke 10K 10| H |=eE 10| N [Reke

11| N [zt cemm - smmacre [11| AR 11| H |==e 11| N 11| 11|H 11|7K[10-11-12mETHES
127K ek 12| 12| B [msmz o209 [12]|7K 12| 12| X 12| K

13| K| 13| T [y @mEsm |13 N 13| K |xsmusse 138 13|7K 13|&

14| [erme smz mrvmeemwo [ 14| B |2@E 147K 14| 14| B 14| K [PrrEmssims emz 14| T

15| 15| B |prais @@m) 15| N |1 Esese s 15| T [FEcxBaae@@epm |15 N 15| 15| B |eme snezrznaas
16| B [=m=e 16| 16| & [rEsm0 16| B === 167K 16|t 16| B [onmsme omgmois~zm
17| B [rresnnscessnsan essanns |1 7| 7K 17|t 17| A |BoB 17| AR 17| B |=m=e 17|k

18| N [rormuessnsnnsisssnsan-nssanes |1 8| K | K SIEBERD 18| B |=me 18| 18|% 18| A [#zonr 18|7K [#2mEVFOBAMIZ
19| 7K [+sRmesmimy 19| 19| A |pesvssumacn —ame |19 7K 19| 19| X 19| K
N T r— T = 20| N |rE3®EQ 20| K |sezvrs@n =+-04a3]20]1 B 20(7K 20| % |ammE (o ~118%)
21| 21| B |e=e 21|7K 21| % [sezura e =+-oum)21| B 21| K 21l
22(t 22| B |#emeos-mrasocsn [22| K |#1BR0Fomss 22|11 |«= 22| M 22|% 22| H |re®e
23| H |=mr 23| M [BAER@CER) 23| & |rEs80 23| 8 |am®r 23(7K 23| X | or 23| B [peemssm semma e -mpos
24| H 24| 7K |[BrE®E =) 24t 24| B |smEzE2 24| K 24| A |geme 24| K
25|\ 25| K |ssEE2 25 |ama 25| N 25| % [mxst-xares-wovnL 25| B [rameesre 25|17k
267K 26|% 26| B 267K 26| L |7 sniEL 26| N [EBea 26| K |smEBER
27| K |smzaz 27|+ 27|\ 27|K |esst-2ems-mrvs 27| B |ame 27|7K 27| &
28|& 28| H |=®== 28|k 28|& 28| B s 28| K |sstas 28| 1 |rrcsmusrmmervinrans
29| 1 |aoRr 29| B |1 Emsis 29| K |smEEs 29| 1 |Franr® 29| N |#2Emmmans 29| % [EnasasHa 29| B |e=e
30| H |=m== 30| 30|& 30| B |e®e Frrrr@ 30(7K 30(x 30| A |zEznen=

31| 7K |mamEze ce0) 31| B |[Frrre 31| K|smzas 31| N [P —ei Gzt m)




118 128 1R 2R 3H 48

1|7K [proessmezn asews wm| 1[4 1B =8 1R 1| E |FrrosdyER) 1A

2| K [eswemrirsmanzem | 2| 2\ 2| [zxx013:10) 2| 1 |FE B @Emn] 2| N

3| [xtor RIN=1EL3E 3|7k 3| 1 |Eszee 3| A |a=e 3|7k

4| L |priv—sm 4| B 41K 4|8 |ema 4|18 41K

5|8 |eme prax/ v— 5|k 5|% 5| B |rarasse 5| N [ponzecoro-nixmzesna | 5|

6| A |r&u#a 67K 6|t 6N 67K 6|t

71N 7R 71 8 |ee=e 717K NP SEIES 0 7|18 |eme

8|7k 8|& 8| A |rAnE 8| K |mazxsu-mErunL | 8|4 |wesxre-Brvere | 8| B

9| K |rattrmasd o+ |2 9| N |xzt-xarE-ArVEL] 9|F 9|t 9| N |t cesmn) sprmA (i)
10|15 10| H |a®e 10|7K |1 23 s HES 10| 10| B |=m=e 10| 7K [rBE= rrER)
11|t 11| B |mex®e 11| K |rampam 11| B [gEzs0r 11| A |eTaz0 11K |

12| B |ew== 12| N 12|& 12| B [rene 12| N [sans-sare 12|5& |ckm

13| H 137K 13| 13| X 13| /K |Franrssing 13| L [=

14|k |rEOE 14| K |steo% 14| H |=a®= 147K 14| K|smxr2 14| 8 |=®=

15(7K 15|&€ 15| B |#smEms-wuas 15K 15|& |sTuE0 15| B [erms-smst-mnvmss em s
16| K |=msmms 16| 16| M 16|%& 16|t 16| N [eruannucensnsas esuannn
171% 17/ 8 |e=e 17[7K | kmnssms 17| L |penzs 17| 8 |==e 17|7K |5 pmesmms

18| T [Fa<xBve@mErim | 18| B [su£rs 18| K [xsmasso 18| B |=me 18| B leTatmor-ooxama 18| AR [ rsmmsusnman sonmma
19| 8 |e=e 19{ N 19| £ |rBsm-~svoxz2 = [19 B [r=xe 19| N |erasssaEn zevum] 19 & [rrumnmsiasensun sosamnn sen
20| A |#emasais 20| 7K 20|t 20| N 20|7K [gn0m 20|t
21|k 21| K|rwzrzze 21| 8 |e®=e 217K 21| K|t em) 2mesnz|21 | B |are
227K 22| & ez cem -movuL |22\ B 22| K 22| % [petisor-ama-ammc| 22| B
23| K |prmson 23|t 23| N |rEsm-<5 ks & |23 | [ReER 23| 23| N
24| % 24| B |ama 24|7K 24|t 24| B |ame 24|7k
25(L 25(H 25K [ssrrs 25(H [ama 25(A 25K [pstaz
26| 8 |a=e 26| N 26| |rEsm-<5x2EN 26| B 26| M 26|%
27| B |suzez rrasmxzcazam (27| 7K 27|t 27| X 27|7K 27|t
28|\ 28| 28| 8 === 287K [onzovsma. 28| K& 28| A |==e
29(7K 29|& 29| A 29| K [s8xE2 29| 29| A |maoa
30| K [z=zu-srme-mnvs 30| 1 30| N 30| 30| N

31| H [m= 31[K 31( B [gme




